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Multiplying Algebraic Expressions
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Disiributive Law Z;:‘);)\ O le

The distributiveLaw for real numbers states that

———

a(bxc)=ab+xac

(a+ b)c=ac = bc

for any real numbers a, b, and c.
57x-2) =[2X=¢)

Quick Example /

2(x — 3) is not equal to 2x — 3 but is equal to
2x — 2(3) = 2x — 6.
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Expand the following:
= >

1. a(3+t3a~ og 4. 2(ax+5)- _|®x+\0)
2. 2(4t—3k)[8g 5. 2T3x 4)- (éx-38)
3. 5(n+ 3p) 5—,”_,5;) 6.

6(2k +3)[17% +13)




'y Expanding Two Brackets

Corbett

First

To expand two brackets... use FOIL
Outer
Inner

Expand: (x+3)(x-7) ~—
W X times x = x°
=x% - 7x+3x- 21 e3¢

=x% -4x - 21 —
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Expanding Brackets - Example
\0S \/ Expand the Binomial: (m + 4) (m + 1)

(

— 2 Simplify by Combining
= I 5 i 4 the Like Term items.
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Using the distributive property to find the product of two binomials.
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Simplify: (x-6) (4x + 3)
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4x2 & 3x -24x >-18

Ax?% -21x-18
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Linking Method - FOIL
FOIL stands for:
F - First (x+2) (x=110)

O - Outside

| - Inside
L - Last a}@. 2 -2°

[ > =P —20 t)
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Expand and

(5% +2)°
P il e

(5x+@2)

25x° +10x +10x + 4
25x° +20x + 4
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U‘ Expand and SimP\l‘@R%
0 \/@ ()(—-il)(QnH—\l) -

G +5)(3 + M) =

b-8) =
¢ N+ |\ :
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XPomd and S’»mp\:‘céyt, 41 oNnswer

//ﬂ\)

D (X—-i IX+ M) = 3%11—&—_-2;_)(—\{ |
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EXPo\nA and Slmp\l‘@‘_}% 41 cnswer
L /‘\ |
Db-8) = -8 (G-8

_ 8\o+ 6\
b — Bo-
=& _16b + &M)
sk =
N I
S —\Lﬁﬂ‘b \oq * h.ow
= n + 1<>n . :Log
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Special Binomial Products to
Memorize

- When a binomial is squared, the result is always a
“perfect square trinomial”

(a + b)? = a? + 2ab + b?
(a— b)? = a? — 2ab + b?

 Both of these can be summarized as a formula:
— Squarethe firstterm

- Multipl@imes firstterm times second term
— Squarethe lastterm

3x+2:)D: Ox* +12x +4

(4x- B 165 40x +25
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> Square of aSum __ Foes=o\ TS

The square of (a + b) is equal to the square of the first
term (a), plus twice the product of the first and second
terms (a, b), plus the square of the second term (b).

(a + b)* = a* + 2ab + b*

(a +b)(a+b)

(a)(a) + (a)(b) + (b)(a) + (b)(b)
a’ + 2ab + b?
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(@ + b)) =a~ + 2ab + b~






| (a=b)Y'=a"-=2ab+ b’
St s
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(a-b)"=[a (-B)]= a)"+ 2a)(~b) (o) sl g
=0'=2ab 4l b
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(a-D)=a’-2ab+ D
(2h=2) = (20 = (2x 2hx2) + (2
=4 -dhz+ 7
0 -5
(a-b)'=a"-2ab+ b’

65 = - 03665 )+3

=36 - 60y"+ 25"
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What is the area of the following shape?
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a) x2+ 25 c) 4x+ 20
xZ+ 10x + 25 d) notenough info
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(@4 b)(a-b)=a’ =" :jgafl »
Sum * difference
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0 (2+3)(2c-3)
(a+h)(a-b) =a" - b’ VTR, H,M
[2043)(2e-3) = (25)! -3 a=2,b=3 :E' ¢l

=4 L)




0 W'+ d)u'-d)

(a+h)(a-b)=a* - '-
W+ d)(dr' -d') = (4) - (&) “
=y, b=3

=16r'-d" L




Determine whether this statement is true or false,
explain your answer

J

]
(3x—4)° =9x2 — 12x +16 (q,b) - Q\L_lqb_\_ bL

rq\se)
(3x-4) = (3X) = 243X+ ¥ + MUY

=@x‘__ 24 X + E')







